ok T
By: Designing team

Name: F0i501 Ferncindte del Bogue 14 ACEIR00 Due

L /=1 £19)=6, 593, §(5)=2. Find he valves of

W e derivat =6-es e 1
ke £ ﬂ, i Y R ARKRT s‘\: 1(a)+ 6 l-2)
- e 415 fxey— ¢ ()aHis) i
m&)ﬂmm;:b‘,-qﬂuy.;w;_‘)ﬁ 4= 3 Gty 1y v (e ) 3&(\_#9
Yl QNS 1)
I

L 5 - ihen cl=s 3 | o f3)=4, gB3)=2. =6 and find the following values
e he acceleraion of the obiect. JO=4. 53)=2. 1 G) £

(e ~ees= 1]
:::a e g (g 2O . Csros(E)
Tome. e ace ofhe cor. G ‘ e S s

1L Cicl th ignt answer. (10 poin sachl
1S fhe derivative for y=2¢% is: *
R @ yaet

A e cetvaavarory=T/=AE]
@y 8) ¥ =inl2e- %

O gt o y=2L
3.(_D_) ifthe equation thot gives
gives the acceleration is: AT

& al)=se(ar+1)
O a)=see

s

’L'm/ /;miwrd, A gt

J
E s e S
sl Fenandn du Bokqe  AUI0N0

i peEne e b i
I EBEG)= 9x(2x4 5)1 |

e e AT & Llskab [ ] W el |

7 il L ve lxds)t |v3 4(avis)?
B 11 | 50 Y ¥ T 2.‘ &
el =T Il el g o B (8forsf) | L)

| X NER NN N S 412 ¥
ik - ; M| 1 FalAafpd Sl -
= & ; (3 3
i ] I e as) ¥ |
* i Al el
§ B oxf |l 21~
g ﬁu»u‘ xt) |
1 n T it i
ek e
= I M T
[ ] A
149),£00)= | (aeiys | 1
v
ps C

gl




